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1. A 2011 = fauman TRfasvphia Gshamd HaaRas hiviel T IieEr fagd

JATAT 7
(1) =g (2) UEd F0g
(3) W= (4) TERTS Aafmiv &

Which Party's candidate got elected for the legislative assembly recently in October
2011 from Khadak-Wasla constituency ?

(1) Congress (2) Rashtravadi Congress
(3) BJP (4) Maharashtra Navanirman Sena

2. fady weueael wRiFmmRmm el mEndia e qumvar F g8 Feamsia EaE
g Heel Freat ?
(1) SF 2010 (2) 92 2010  (3) M= 2011  (4) ®<H 2011

When was the circular issued to start a special campaign to verify the attendance
of the students in the schools ?

(1) June 2010 (2) dJuly 2010
(3) August 2011 (4) September 2011

3. TEgE TS TSl i 2

(1) TR (2) sFT (3) TTAST (4) Atean
Which is the capital of Chattisgarh ?
(1) Raipur (2) Bankura (3) Malda (4) Nadia

4, Y YRINT FHIVET MOfETS) ! TGl et 2011 H) Fel 1 ?
(1) TR AT T \ (2) wermEeT faQuma
(3) faemfifrar (1) oot e

For what purpose did the people agitate in Andhra Pradesh in October 2011 by
obstructing railways ?

(1) Separate Telangana State  (2) Inflation

(3) Increcase in students fees (1) Complete Development

5. wAfedr 12 = geigg wda gavives wiomer e ?
(1) A 3Wm (2) 0 Fm (3) wfan fygd (4) Tedm

Who received the goldmedal in 12th National Female Boxing competition in Oct.
20117
(1) P.T.Usha (2) McriKom (3) Saniya Mirza (4) Decpika

Hoel HAEET AR/ SPACE FOR ROUGH WORK
P.T.O.
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6. 15 2011 T FHivret TSATE U Te1ae AN et 2
(1) Y w2 . (2) anfierg
(3) B (4) FRES
In which state was the presidential rule imposed on 15t June 2011 ?
(1) Andhra Pradesh- . (2) Tamilnadu
(3) Kerala (4) Zarkhand
7. SHIVIET TG 42 FNTEAT GRANERD STiFal. 2011 HEd ¥ e ?
(1) fersfran 2) T (3) T (4) st
In which country did the 42 year dictatorialship come to an end in Oct. 2011 ?
(1) Libiya (2) Iran (3) Iraq (4) Germany
8. mifem fafren wfigas sfafem Fear axff o sme 2
(1) 1992 (2) 1993 (3) 1994 (4 1995
Prenatal Diagnostic Prohibition Act, was enacted in
(1) 1992 (2) 1993 (3) 1994 (4) 1995
9. TITHT T HIVT S ST EAT 2
(1) swa-=H (2) VRG-SR
(3) WTE-QTEhRH (4) Y-S
Kargil conflict was between which two countries ?
(1) India-China (2) India-Bangladesh
(3) India-Pakisthan (4) TIndia-Nepal
10. St wvaTeh S Foren Riogama sifae. 11 v ge Fefl ?

(1) |WERI 2 @ (3) RITETR (4) AT
In which district the farmers have started water Bank since Oct. 20117
(1) Satara (2) Pune (3) Kolhapur (4) Nagpur

11.

‘de g fepier’ <t ApTell sTraT v 6 R 2

(1) TEe " (2) TS 31

(3) JHeamh ud. &, (4) 30U E=IR

In India who is demanding "Right to Recall" ?

(1) Rahul Gandhi (2) Raj Thakare
(3) AdwaniL.K. (4) Anna Hazare

HeedT KIS AATT/SPACE FOR ROUGH WORK
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12, o= aeg 38 Uatat TEATs) goel dheal @Tel ?

(1) 11 g<=t 2001 (2) 12 g 2001

(3) 25 g<st 2001 (4) 26 L=t 2001

When did the terrorists attack the World Trade Centre of America ?
(1) 11 September 2001 (2) 12 September 2001

(3) 25 September 2001 (1) 26 September 2001

13, WRaW 18 ¥ 1974 VSN afeedt o=t 13 el ?

(1) wHemSg (2) Ty

(3) weyew (1) TSEAH

Where did India carry out its first nuclear test on 18 May 1974 ?
(1) Maharashtra (2) Gujarat

(3) Madhya Pradesh " (1) Rajasthan

14. TYHR TCHHTE ARG Gaiawer f&F v 7R ?
(1) 1057 | (2) 5
(3) 157 (1) 2033

"International Environment Day" of the United Nations Organization 1s
celebrated on

(1) 10tk June (2) 5th June
(3) 150 Junc (1) 20*h Junc

15. 1992 wed wfgeft smifod agew afe i |@u=1 greft 2

(1) s (2) S9H

(3) =TS () =

The first International Earth Council in 1992 was held at
(1) Brazl (2) Japan

(3) Newzecaland (1) China

16. WIEE THeT svrer feaufl wiene et 2

(1) 26i=e. 1949 2) 26 fed. 1949
(3) 26 VM. 1949 (4) 26 M. 1950
On which day was the Indian Constitution got adopted ?
(1) 26 Nov. 1949 (2) 26 Dec. 1949
(3) 26 Jan. 1949 | (4) 26 Jan. 1950

THoedT TS ART/SPACE FOR ROUGH WORK
P.T.O.
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17. 2010 Wed e =@ g St oy qui el 2
() 25 (2) 15 (3) 50 (4) 30

How many years has the Narmada Bachav Andolan completed in 2010 ?
1 25 @ 15 (3) 50 (1) 30

18. TERTIde faurafye ned T wew amgd ?

a 78 @ 77
(3) 76 4) 79
How many members arc there in Maharashtra Legislative Council ?
(1) 78 2) 77
3) 176 4) 79

19. Tl 13 =1 fod SR (2010-2015) 1698 FI0 TR ?
(1) 1. T (2) o fosg FaH
(3 wam =R @ (4) i v =
Who among the following is the Chairperson of the 13" Finance Commission ?
(1.e. 2010 to 2015)
(1) C. Rangrajan (2) Dr. Vijay Kelkar
(3) Dr.Y.V.Reddy (4) Dr.S. Acharya

20, fogw Tsu e w0 oTRT ?

(1) SIeHETg e (2) @ FMed

(3) Feftw Fan (4) THfEE qEEH
Who is the Chief Minister of Bihar State ?

(1) Laluprasad Yadav (2) Sharad Yadav

(3) Nitish Kumar (4) Ramvilas Paswan

2]. TERIS IEAT=T Fikhieh SRV 0eel |ilidi 318987 07 37 2

(1) 1.5 9@ (2) T8 T&*

(3) Tomes w2 (4) wfada @

Who is the Chairperson of Drafting Committee of Maharashtra State Cultural
Policy ? 4

(1) A.H.Salunkhe (2) Hari Narke

(3) Vinayak Mete (4) Harshavardhan Deshmukh

HesdT RS ANT/SPACE FOR ROUGH WORK
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22. 2010 T " gfeed forara =iof frasfae 2
(1) ol aama (2) Fewm et
(3) Tepie Witk (4) Pt $igara
Who achieved "Miss Universe" award in 2010 ?
(1) Jimena Navaret - (2) Yukta Mukhi
(3) Nikol Faria (4) Gifiti Emanual
23. ? TERIRTE 9Teamt sHfvarane ufigy .
(1) @ram (2) iR (3 (4) mTEd]
is famous for the production of footwear in Maharashtra.
(1) Satara (2) Kolhapur (3) Pune (4) Amravati
24, LA AR Yeerh JHIIG AT,
1) 3 (2) ¥
(3) fetaan uretwrsan (4 fizw u
The rich source of iron is
(1) Milk (2) Eggs
(3) Green leafy Vegetables (4) Beans
25, WERTSTE fehell < gRter TeTYR S0ATa et 3TRa ?
(1) 03 (2) 05 (3) 33 (4) 221
How many Nagar Panchayats are established in Maharashtra ?
(1) 03 (2) 05 (3) 33 4 221
26, WA g T FTER T F AR 2
(1) ¥HE Ied Q) Wz e
(3) Hreq urian (4) TIETEE A
Who amongst the following is the author of the novel, "Hindu" ?
(1) Anand Yadav (2) Narendra Jadhav
(3) Mohan Dharia ' (4) Bhalchandra Nemade
27. “‘FArREA HY ' g wEHia AR,
(1) sih! (2) Feaia (3) e (4) Tew
"Agakhan Cup" is associated with the game of
(1) Hockey (2) Football (3) Cricket (4) Golf
Tl HIHETE! ATM/SPACE FOR ROUGH WORK
. P.T.O.
r ' ’
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28. I 2010 FRA WERTY ATV Y Fox1 TR UM arfiaied W i
T
(1) 3wt ) sV
(3) WU | (4) *ATEERR
In July 2010, the construction of dam caused water dispute between
Maharashtra and Andhra Pradesh.
{1} Tembhah (2) Babhali
(3) Pochampad (4) Shriram Sagar
29, SR I FheT FHIUCT AT FERMEH VAT SR AR ?
(1) W4 (2) SUH (3) v& (4) amfan

Which country extended collaboration and support for establishing Jaitapur power
project ?
(1) France (2) dapan (3) England (4) America

30.

2001 AT SFTUHT HEATATER TRRIHVITEAT STedid TRAw I SR Tl goiid TeRTegr= foheat
FHIE TR ?
) ufeen (2) e (3) gET (4) Tmu

Where is the State of Maharashtra placed in the country in urbanisation as per
2001 census ?

(1) First (2) Fourth (8) Second (4) Third
31. Wi 7Ex2l+81+ll=?
5 2 3 38
1 2 2
21— 20~ 20—
(1 215 @ 21 (3) 207 (@ 207
Solve 7Ex2l+3£:—].-1—=?
5 2 3 3
i 2 2
21- 20= 1) 20—
W 215 @ 21 3) 207 (1) 207
32. 13,25, 18, 63, 30, 78 I GEAE & A, ATe.
(1) 40950 (2) 49050 (3) 4050 (4) 45059
LCM of numbers 13, 25, 18, 63, 30, 78 is
(1) 40950 (2) 49050 (3) 4050 (4) 45059

Hoodl RIATETS ARTT/SPACE FOR ROUGH WORK

-
-
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33. 3T FHM WU AUl HEAE1 T @refia Ty e,

231 14686
R Y 268
111 111
9 T332 D 533
() A (2) B (3) C (4) D
Choose the fractions which are in descending order.
231 1 4
A 353 B 2538
111 111
© 133 RN
1 A (2) B 3 C 4 D
34. rear x wRar, 0.0625 0.05
—_——=0.
(1) 0 (2) 125 (3) 25 (4) 5
Solve forx, +/0.0625 ~0.05
" .
(1) 0 (2) 125 (3) 25 @ 5

35, STA:B =3: 4 A0 B:C = 5:6 T A:C UK frelt ?

(1) 5:8 (2) 1:2
(3) 3:8 (4) 59
If A:B = 3:4 and B:C = 5:6 then A:C is equal to
(1) 5:8 2) 1:2
(3) 3:8 (4) 59

36. u o= TR 46 o7 AR, AR afden = R 45 T AR, W grEe e A o

fi= 2

(1) 50 @ 1

(3) 10 @) 12.5

The average of 5 results is 46 and that of the first four is 45, what is the score of the
fifth result ? : ,-

(1) 50 @) 1

(3) 10 4) 12.5

Hoeql HINTATE! ANT/SPACE FOR ROUGH WORK
P.T.O.
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37. THI 150 HY. " APTET 450 ). didfian wie Bi-9 3t IR Sogr witar 20 Hee anrard-at &
SAPTTERE e 9|, fordt 2

(1) 308, (2) 96 H/g. (3) 22.5 Ha. (4) 45 Hya.

A train 150 meters long takes 20 second to cross a platform 450 meters long. What
is the speed of the train in meters per second ?

(1) 30m/sec. (2) 96 m/sec. (3) 22.5 m/sec. (4) 45 m/sec.

38. WK 37 ATCIohd ShivIaT 3T AN 3& Tihdl ATl ?
2, 3,6, 15,45, 135, 630
1) 6 (2) 15 (3) 2 (4) 45
Find out the number which does not fit in the following series.
2, 3,6, 15, 45, 135, 630
(1) 6 @) 15 @) 2 @) 45

39. W CANCELLED = 27 a1fot POSTPONEMENT = 36 @@ REVIVE =?

1) 6 @) 12 Q) 15 @) 18
If CANCELLED = 27 and POSTPONEMENT = 36 then REVIVE =?
(1) 6 @ 12 @3) 15 (4) 18
40, ficiem TeeTa T SEAed A AN I5E 9IR BiA). 9IRS ¥Iss TR fama weeme
Faer. .
NVESU, TERAH, NOMO, RASM
() NVESU (2) TERAH  (3) NOMO (4) RASM

Rearrange letters in the following words and to give them meaning and then find
the odd man out.

NVESU, TERAH, NOMO, RASM
(1) NVESU (2) TERAH (3) NOMO (499 RASM

41. SR LONDON fafgamr HPOEPO =/ foidta o1g @t DVOHSZ +/ geifod ?
(1) MEXICO (2) ISLAND
(3) HOLAND (4) HUNGRY
In a certain code 'LONDON' is written as 'HPOEPO' then which of the following
words is written as 'DVOHSZ' ?
(1) MEXICO (2) ISLAND
(3) HOLAND (4) HUNGRY

Heedl BITATE! ATT/SPACE FOR ROUGH WORK
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42, TEa Yygen v g o sof 9 wig fae,

— | —.
A B C D 1 2 8 4
(1) 3 2) 4 3) 1 @ 2

Choose the missing figure in the series.

—

A B | C D
1 3 @ 4 @) 1 @ 2

2 8 4

43, GWsT gEE A AT R TR 750 oA, IR, = a2e vl 9 e wem fawg fes Femeen
et 3 sigwd 70 R f 3 55 T ofl, arefi o, w3 Mg wee R aTeran wedie 2

(1) 3. 2.30 9=t (2) F=TR! 4.15 =T
(3) §. 3.00 T (4) 3. 2.45 T
Suppose the distance between Mumbai and Nagpur is 750 k.m. At a time both

trains start at 9.00 a.m. from the opposite sides one at a speed of 70 k. m. and the

other at 55 k.m. per hour, then at what time will these trains meet each other ?
(1) 2.30p.m. (2) 4.15a.m.
3) 3.00p.m. (4) 2.45p.m.

44, U IH TEITE! IR 53125 9 99119 25 3R W walq deH aen Fivrd 2
(1) 425 ‘ (2) 625
@ 75 (4) 125
If the product of two figures is 53125 and G.C.D is 25 then which is the smallest figure ?
(1) 425 (2) 625
@) 75 (4) 125
YT HATATS! ATT/SPACE FOR ROUGH WORK

P.T.O.
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45.

12 A

" (b3 +b2) (b2 -3b) =b® + mb? _%J,D @ m g n A TFach wE ovadis 7

(1) 1.3 2 -3-1

(3 -1,3 4 -3,1

If b +52)(b%-3b)=b® +mb? *% +1n then what are the values of m and n ?

(1) 1,3 2) -3,-1
3) -1,3 (4) -3,1
46. T fadiean sTquTienTe Hata W TqUres wivrar ? 38, 33, 25, 29
9 8 6 7
1 25 (2) 88
6 9
(3 33 4 29
8 7
Which is the smallest fraction in the following sequence ?
38,33, 25, 2
9 8 6 1
1 25 (2) 388
6 9
3 33 @ 29
8 7
47, UHTE A 4 GG NRA A1 I A0S 122 9N R, TS T YW STFHA M8 T qet vEm

8 qut M3 TRe gore v afsar=n Far=n fioue R, W gl 9 & s/ e ?

1) 18 =§ @) 15 =¥

(3 11 =¥ | (4) 23 @

In a family there are four members. The sum of their ages is 122 years. If father

and son are older than mother and daughter by 8 years respectively and the age
of the son is half that of his father, what is the age of the daughter ?

(1) 18 years (2) 15 years
(3) 11 years (4) 23 years

HoeHT SHTHTHTEY AT /SPACE FOR ROUGH WORK
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48. mﬁéwmaAmﬁmmmmm%.Baﬂﬁmmmmm%a
C- 3634 YT =T Ao 3R, ferdt et sRtund) A e T o .
(1) 39 (2) 45 (3) 99 (4) 57

In the above figure A = the number of persons in service, B = number of persons
travelling by bus, C = number of persons travelling by railway. Find the number
of serving men that travel.

(1) 39 (2) 45 3) 99 (4) 57

49. @ o v faegrear s @7 vl e A KOO0 00A?0A 27RO

(1) OKOA | (2) OO A
(3) OOAWR (4) OR/aO
Complete the series A [FOOROLA?2DA?P??7RO
(1) OFROA (2) O0OW%K A
(3) O0A% (4) O a0
50. WicliAtehl FTedT Setdier T&aT 9 312d ?

12 -15 -21 +27
b 16" Zeo @ 2836
5 218 9 o 16 3
( 54 ' -36 : ; ( -64"-12
Which of the following pairs has figures with the same value ?
, 12 -15 p 21 27
D 36 Te0 @ 58— 36

-18 9 -16 3
® 5436 @ “es 12

HoogT HIHTHTS! ANTT/SPACE FOR ROUGH WORK
P.T.O.
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51, T T T TN e 361 =T e asrerht 273 39 F 77 T K 39 A W =1 ESA
HIVIET ?
(1) 24,15 (2) 23,16 3y 22,17 4 20,19
In which of the following pairs the difference of the squares of the constituents is
273 while the addition is 39 ?
(1) 24,15 (2) 23,16 3y 22,17 4 20,19

52. R U T avien gE= feawlt taan ddt & = awien vaewar Rawren Tams 3 1 Ol AEw
FTa 36 ?
1) e 2) n 3) t 4) r

If the second day of a leap year was sunday then which will be third letter of the
last day of the year ?

1) e (2) n 3t 4 r

53. UHT IRETH) SErEAT ANEAE HITIEL U T Yedsh STal QUM Sa0at 23 JISE 3 deadl
R4, T FEreAT AiaaTHt TR ) ane dradt sea ?
(1) 92 (2) 90 (3) 94 (4) 96
In a square shaped garden one tree is planted in each corner of square and if on

each side of the square at equal intervals 23 trees are planted, then how many
trees are planted around the garden ?

(1) 92 2 90 (3) 94 (4) 96
54. @it fectea uefi=h fhaa frdt ame 2 (1.3+3.7)3
(1.8)2 + (3.2 +(7.4)(7.3)
(1 121 2 1.21 (3) 11 @ 165
3

What is the value of the following ? (7.3+3.7)

(7.8)% +(3.71)% +(7.4)(1.8)
(1) 121 2 1.21 (3) 11 (4) 16.5

55. 1,2, 3,4 T 3F Td% 91 3l G0 Thalg 190 F A0 s 9 37 g Tt 2
(1) 16 (2 24
(3) 18 ) 22

With the figures 1, 2, 3, 4 (using 1, 2, 3 or 4 only once in any four digit figure), how
many four digit figures can be formed ?

(L 16 2) 24
3) 18 (4) 22
HooAT FHTETE AN /SPACE FOR ROUGH WORK
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56. Grclid agdrd + (Fagr=n) sweft =rorar o @ ? 6 *

w
*
=3 WO
(W o O

* 2
1> 5
(1) 4 2 7 (3) 6 (4) 8
Replace » with the appropriate figure ¢ * (0 9
3 * 3 2
* 2 7 3
1= 51 4
(1) 4 (2) 7 (3) 6 (1) 8
57. I 9o fasr 60 +5%12+ (180 +8) =
(1) 60 (2) 120
(3) 13 4) 61
Select the correct alternative 60 +5x12 +(180+3) =
(1) 60 (2) 120
3 13 (4) 61

58. 'A' 1 Iwge fFud B! o aEqan fhudier 400 TR SR TR, SUERE ‘A’ T B 1 w784
TR 3/ o B’ a1 Fwqe TR foret 2
(1) %200 (2) %384
(3) ¥ 300 4 T192

Price of 'A' 1s more than price of 'B' by ¥ 400. If price of both 'A' and 'B' together is
¥ 784, find the price of 'B'.

(1) %200 2) T 384

(3) T300 (4) T192

59. dew1d I gl e (0.5)°+(0.6)°
(0.5)2 —(0.3) +(0.6)%>

1) 0.11 2 0.33 " @) 1.1 4) 3.3

0.5)% +(0.6)° _

052 -(0.3) +(0.6)2

(1) 0.11 (2) 0.33 (3 1.1 (4) 3.3
Hoodl HIWTETST ATT/SPACE FOR ROUGH WORK

Solve and write the answer

P.T.O.
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60. ¥ vy fagd waaR! quf &
bea ca ca
(1) aabbec (2) abbbe (3) aabce (1) abbece
Complete the series
bea ca ca
(1) aabbe (2) abbbe (38) aabcc (4) abbecc
61, T STTIRAN T U9 75 ¥ @A el @ 105 €99 R qU e R e e 2

(1) 100 % (2) 50% 3) 40% 4) 1256%

A trader purchascd a pen for ¥ 75 and sold it for ¥ 105. What is the profit in
percentage ?

(1) 100 % (2) 50 % (3) 40% 4) 125 %

62.

SR HTd 39d 9 I GAtt fhAa T 48,250 R W 21 2@ 9 36 GeAtd! fema B 2
(1) 96,500 (2) T1,25500 (3) T1,44,750 (4) ¥ 170,250

The cost of 7 tables and 12 chairs is ¥ 48,250. What is cost of 21 tables and 36
chairs ?

(1) 96,500 (2) ¥1,25,500 (3) ¥1,44,750 (4) ¥70,250

63.

giear 9 9 i o 2! 49n

2n+4_2n+1 =
2 3 1 5
W @ = 3 35 @ =
2n+1+2n
Find the value of W=
2 3 1 53
1 3 (2) a @) 13 @

64.

T T A, B3 C wat agesspal fgmmiiad) qem T %0 Sl 12, 18 91 20 §herd o1 FHTArd W
Freft Mifferm A Rt Iy fogm sedfi 2

(1) 5 @ st (3) 121k @) 3t

Three friends A, B and C jog around a circular stadium and complete one round
in 12, 18 and 20 seconds respectively. In how many minutes will all the three meet
again at the starting point ?

(1) 5Min. (2) 8 Min. (3) 12 Min. (4) 3 Min.

HeedT HIATATS! ANT/SPACE FOR ROUGH WORK



65.

%

(1) 144 ) 97 (3) 105 4) 92

Find the alternative

%

(1) 144 2) 97 (3) 105 4) 92

66.

Tt Wl WiEd TR ITHIE @ 10 Tesara @ Ferean STl @ 1o FH g SR T SHeaRH
30 W W 30 71 Fred T v wr fokelt war s e 2

(1) 30 (2) 15 (3) 25 (4) 20

In a competitive examination correct answer fetches 2 marks and for every wrong

answer one mark is deducted. If a candidate solves 30 questions and gets 30 marks
then how many correct questions he must have solved ?

(1) 30 (2) 15 (3) 25 (4) 20
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68.

18 A
! R ST (TaF) T G 97 O 5:4 3T S T 37Ew 18,000 30 R w) Righ
(1) % 3,600 @ 3,200 (3) ¥ 14,400 (4) ¥ 2,000

Income and expenditure of a person are in the ratio of 5 : 4. If income of the person
15 ¥18,000 then his saving is

(1) 3,600 (2) 3,200 (3) ¥14,400 (4) 2,000

69.

100 i x 80 i AT ARIARR ST, WA I T hel, TF AT THRR 9 U w46 G 1
TATE w61 2 d T wd T Sawes Tt 2

(1) 32412 (2) 360 2
(3) 344112 (4) 356 .2
There is rectangular garden of dimensions 100 m x 80 m. Two roads are laid

runnning midway in the garden, one parallel to the length and the other paraliel
to the breadth. What is total area of the road if the width of the road is 2 meters ?

(1) 324 m? (2) 360 m?
(3) 344 m? (4) 356 m?

70.

1,2, 3, 4, 5 I SFHERE a4 37! ! T Bifla Sdia Tea alia 376 TH 381 IR 331
R A& 7

(1) 10 (2) 20 3) 9 (4) 16

How many two digit numbers can be formed using the digits 1, 2, 3, 4, 5 if no digit
occurs more than once in each number ?

(1) 10 2) 20 3) 9 (4) 16
71. 13 1960 Us 7ERT™ Rz €.

1) 26 2) 29 3) 35 (4) 23

There were districts in Maharashtra on 13t May 1960.

(1) 26 (2) 29 3 35 (4) 23
72. HEE TT A1 TSR TAITE) Tl Tsfl 9T,

(1) 1% 1960 (2) 172, 1956

(3) 19™. 1950 (4) 15 AT 1947

The bilingual state 'Mumbai' was formed on

(1) 1 May1960 (2) 1 Nov. 1956

(3) 1 dJan. 1950 (4) 15 Aug. 1947

Fooqt RIWTATS! ART/SPACE FOR ROUGH WORK
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73. 19 1998 Tsh 1 Rieear faveH Fwam 3.
(1) SEINER 2 ya3
(3) wwUh (4) wEwI
district was divided on 15t July 1998.
(1) Osmanabad : (2) Dhule
(3) Parbhani (4) Bhandara
74. TETISIIAT I R iordt geaum R 2
(1) TaHmE (2) aTger (3) dTETHTE (4) qER
Which mountain range is found on the northern border of Maharashtra ?
(1) Satmala (2) Satpura (3) Balaghat (4) Sahyadri
75, Gl 3R Fo Rrer e Reeardier gar= fier a1 2
(1) due (2) &
(3) &9 (4) drem
Which of the following peaks is the highest peak in Amarawati district ?
(1) Vairat (2) Astambha
(3) Hanuman (4) Taula
76. HIFOTA TAHH 3.
(1) &3 (2) frwm (3) &1 4) U
The climate in Konkan region is
(1) Dry (2) Extreme (3) Equable (4) Cool
77. WRTYE R 92 731 f3wm amger wHa i seed ?
(1) oSt @) Freeen
(3) WEERBTR (4) T
Which of the following hill stations is located in the Satpuda mountain range ?
(1) Lonawala (2) Chikhaldara
(3) Mahabaleshwar (4) Matheran
78. HEWISE T T Y. Srsften | forAmT enTe TR,
(1) 720 (2) 730 (3) 740 (4) 750
Maharashtra State has Kms of coastal line.
(1) 720 (2) 730 (3) 740 (4) 750

THET HIATETE! AR/ SPACE FOR ROUGH WORK
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79. & i oon 3 fpn e st R,
(1) v TerRs (2) BU=R SIemER
(3) WSl (4) HTAWST AST

hill range is waterdivider of Krishna and Bhima river.,

(1) Shambhu Mahadeo (2) Harishchandra Balaghat
(3) Satpuda (4) Satmala Ajantha

80. WERT waia Wit T yomed AR,
(1) (2) TeEd
@) F=m (4) @37
The biggest river system in Maharashtra is
(1) Bhima (2) Godavari
(3) Krishna (4) Vain Ganga

8l. The NI HITESTd HERTSHE FIVIcT STl UISd 9ear ?
(1) (2) JWE
(3) wfodra @) e |
Which type of rainfall does Maharashtra receive during SW Monsoons ?
(1) Cyclonic : (2) Conventional
(3) Orographic (4) Pre-monsoon

82, WIEHAYH Fiviar eat aebt I qeai= Seel v shaEen sl 7
(1) fiyggt @) stEw
(3) Wwm (4) "R
Which of the following districts is known as the district of lakes and tanks ?
(1) Sindhudurg - (2) Bhandara
(3) Satara {4) Solapur

83. FRIAT TUMHA SIARHT 1 TEH ST I,
(1) R . (2) IHd PR
(3) I PR (4) ¥ GFR
Koyna dam reservior is known as
(1) Shiv Sagar (2) Vasant Sagar
(3) Sharad Sagar - (4) Nath Sagar

HEAT HTATHTE! AM/SPACE FOR ROUGH WORK
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84, TENITA Wald HH! SARETE I & 71 fasTT o1,
(1) foed | (2) RiEN
(3) AUSATST (4) iR
region has lowest area under forests in Maharashtra.
(1) Vidarbha (2) Konkan
(3) Marathwada (4) Nasik
85. WERISTIT Y3WET T e,
(1) &g (2) drRgHII
(3) (4 s
The soil is found in the Maharashtra plateau region.
(1) Saulty (2) Sandy
(3) Black (4) Jambhi/Laterite
86. TENIR Hdld SIG Uil TRE HRGEH R T,
(1) |iaT (2) IEHTAR
(3) ST (4) RTERN
Maximum number of Co-operative sugar industries are found in
district in Maharashtra.
(1) Solapur (2) Ahmednagar
(3) Jalana (49) Amaravati
87. her=n avede 1 Toreg1 Teie JIeR IR
(1) TR (2) HITET (3) VT (4) NoTEE
district of Maharashtra is the leading cultivator of seasum.
(1) Solapur (2) Kolhapur (3) Jalgaon (4) Aurangabad
88, WEWIWA 39 @iis o e,
(1) IFA=R (2) & B
(3) foat3 (4) fasrameEn
Mineral oil is found at in Maharashtra.
(1} Ankaleshwar (2) Bombay-High
(3) Digboi (4) Vishakha Pattanam
89. AR AV F% Rreeam o,
(1) TS (2) 3 (3) Rwh (4) g
Tarapur Atomic centre is in the district
(1) Raigad (2) Thane (3) Nashik (4) Pune

HEsT HINTHT AWT/SPACE FOR ROUGH WORK
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90. TR Baid HH! SIhEE 1 Riegama o,
(1) =Eq (2) Tl
(3) TeRret (4) ¥R
district has the lowest population in Maharashtra.
. (1) Chandrapur (2) Parbhani
(3) Gadchiroli (4) Latur
91. glwmmm@wmwm FHF
(1) ofgem (2) g&u (3) foau (4) <
According to the 2001 census Maharashtra ranked in India in urban
population percentage.
(1) First (2) Second (3) Third (4) Fourth
92, Wrliwysh! FvreT foregamed nufiur wEE I ol o 7
(1) MWRTR  (2) TR (3) F&TH (4) G
Which of the following districts has the largest rural population ?
(1) Ahmednagar (2) Nashik (3) Jalgaon (4) Solapur
93. mmm e AT See @ T fssmonga gan feeht vt R e

T TR,

(1) wﬁ% @) @i (3) AW @) e ¥ = A
When a person or a group of persons migrate within the country from one place to
another, it is known as migration.

(1) Forceful (2) Internal (3) International (4) None of the above

94. 2001 = FAHIHR HERTZTA 1 TG 69 AIREER Tiar WHTOT Taifees g
(1) FiH (2) T
(3) AEwRW (4) ITTI
According to the 2001 census, the highest migration of male population into
Maharashtra was from state.
(1) Karnataka (2) Gujrat
(3) Madhya Pradesh (4) Uttar Pradesh
95, RN W& IS AT AT T,
(1) e (2) Y (3) wad (4) “afis =

energy is primarily consumed in Maharashtra.
(1) Thermal (2) Atomic (3) Wind mill (4) Natural Gas

HoodT ShINTETE! AT /SPACE FOR ROUGH WORK
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FHiF Ied AFTEdie datd 39 9o g fosRToft sevaa s otk
(1) ue 2) TG (3) IED (4) TR
The tallest bridge along Konkan Railway route has been built at
(1) Pomendi (2) Kurbude (3) Panwal (49) Ratnagiri

97.

2008-09 =T HTFHSARITHR i3 s fasran e (Rrede w andt) wata =i
1 fSeeana Bl T el

(1) férieh (2) e 3) TgER (4) IEEETE

district has lowest utilisation of domestic electricity (per capita
per hour in K.V.) as per the 2008-09 data.

(1) Hingoli (2) Jalna (3) Nandurbar (4) Osmanabad
98. Yglovf ieeama sTeward.
(1) e (2) T
(3) TS (4) <&
Pullar caves are found in district.
(1) Aurangabad (2) Nagpur
(3) Raigad (4) Jalgaon
99. g=I fAy O A A=A WA T 3.
(1) F8 (2) TEq
(3) IMGH | (4) TR
is situated on the confluence of Panchaganga and Krishna rivers.

(1) Karad (2) Pandharpur
(3) Audumber (4) Nrusinhawadi

100. TR foheatt HerreeKdist vt Riegara for ame 7
(1) el (2) e (3) aTfim (4) Romeh
The fort Narnala is located in the district of Maharashtra.
(1) Akola (2) Buldhana (3) Washim (4) Hingoli

101. FveT SRRt Afeaeda wreie & anfor @t & T geeiftye awa 7 f
(1) F=ard (2) WieaATTE ]
(3) HT=ETE) (4) T
In which type of economy there is a co-existence of public sector and private sector ?
(1) Socialist | (2) Capitalist
(3) Communist (4) Mixed

HooAT HIETETE ARTT/SPACE FOR ROUGH WORK
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102. wRard FEeH geerr anfit g e afte=n stoay wiv sw@at ¢
(1) wredrd Tsgaet (2) TauHH
(3) WRA YTyt (1) T
Who is the President of the Planning Commission and the National Development
Council in India ?
(1) President of India (2) Prime Minister
(3) Vice-President of India (4) Finance Minister
103. RETT REEfayas v Gheat e saef s ?
(1) fray afea (2) TN afea
(3) @M e (4) Icfow i
Which concept of poverty is considered in India ?
(1) Absolute Poverty. = (2) Augmented Poverty
(3) Relative Poverty (4) Ultra Poverty
104. TR THEINF TSt QT Iaeh! ST QAT STUHT JWITd AT 7
) ofreifie 8 (2) It &5
(3) a1 &3 (4) Toreh g3
Which of the following sectors was given priority in the First Five Year Plan ?
(1) Industrial sector (2) Agricultural sector
(3) Service sector (4) Foreign sector
105. T<oTR &t A9 Yada Hiv TR 7
(1) =, IIEaE FoeTl (2) #fi. TRUa TR
3) #.fF7. g (4) . 95q qET U
Who is the promoter of the Employment Guarantee Scheme ?
(1) ShriYashwantrao Chavan (2) Shri Shankarrao Chavan
(3) ShriV.S. Page (4) Shri Vasant Dada Patil
106, G HivTal HieaH] R gEn e g Ao m ?

(1) 1951-56 (2) 1961-66
(3) 1966-69 (4) 1969-72
Which of the following periods is known as the plan holiday ?
(1) 1951-56 (2) 1961-66
(3) 1966-69 (4) 1969-72

ool HIATATS ATWTT/SPACE FOR ROUGH WORK
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107. Usfl wRTISETa TR &Y s ] HUvaTa e,
(1) 26 SHaw’t 1979
(2) 26 SHaR 1980
(3) 26 AR 1990
(4) 26 SHa™ 1995
Employment Guarantee Act was implemented in Maharashtra on
(1) 26 January 1979
(2) 26 January 1980
(3) 26 January 1990
(4) 26 January 1995
108. 'Planning and the Poor' 1 J9T™ &G TR
(1) .12 7 e (2) . o oA
(3) @i uE. g (4) . 6. . sy
The author of the book 'Planning and the Poor' is
(1) Dr.V.M. Dandekar (2) Dr. Amartya Sen
(3) Dr.B.S.Minhas - (4) Dr.P.C. Mahalnobis
109. st fmma Scaedhar SR Y[ Ed TS /e STSATRY 3T TFUrATd.
(1) gt STl (2) Tt ST
@3) a4 e 4) Gl R
When marginal productivity of the working people is zero it is called
unemployment.
(1) Disguised unemployment (2) Seasonal unemployment
(3) Under employment (4) Open unemployment
110. 1 A Ferag gREd 10 2.9 TR e 3fwe 3o T aftdht iida s vt

(1) dreet FSET (2) e} T
(3) =dt e (4) TN IS

The Gupta Committee was constituted with the objective of targeting 10 million

job opportunities per year over the plan period.
(1) Seventh plan (2) Eighth plan
(3) Ninth plan (4) Tenth plan

HEAT HATETE ATM/SPACE FOR ROUGH WORK
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111, TR amfio GRS Tsht arefiaTa e,
(1) 2 Hgart 2006 (2) 12 Hgart 2007
(3) 2 Tgarl 2008 (4) 22 Hgarl 2009
National Rural Employment Guarantee Act (NREGA) came into force on
(1) 2 February 2006 (2) 12 February 2007
(3) 2 February 2008 {4) 22 February 2009

112. VRN Iawd =0 hivid &9 Siae g &89 3R 7

(1) wufie 2) Ted=
(3) & 4) I
Which sector is the fastest growing sector of the Indian economy at present ?
(1) Primary {2) Secondary
(3) Service (4) External
113. FRIISA =T STEareTER veqT St IeTR fyesor unfior TS Sedt
TTERYETE! A4,
(1) 2100 (2) 2400 (3) 2800 (4) 3200
As per the Planning Commission Report people in rural area are considered below
poverty line if they receive less than calories.
(1) 2100 (2) 2400 (3) 2800 (4) 3200
114. ‘T gl oefion goma wge’ e FRiwy T gafaen.
(1) <. ame & (2) . .3, 75 FAW
(3) +ft. Tt Tt (4) e 3few mief
Provision of Urban Amenities in Rural Areas (PURA) programme was suggested by
(1) Dr. Manmohan Singh (2) Dr. A P.J. Abdul Kalam
(3) Mr. Rajiv Gandhi (4) Mrs. Indira Gandhi
115. 2000-01 =1 SFEEEFRA FUAT TG TI9H0 TTeliaysh] HerE Gaas Tega ?
(1) IRg () vt freror
@) e arofy (4) TorgdirTm

Which of the following is not included in Pradhan Mantri Gramodaya Yojana
introduced in budget 2000-01 ?

(1) Health ' (2) Primary education
(3) Drinking water (4) Electrification
THeedl HIATHTS! ATT/SPACE FOR ROUGH WORK
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116, Ff=rad=n fafay g 97 Frdsmar Tefvamd Friw oo T TREds g ae
UK 7
(1) Ifem whma fa,
(2) YoM wi=reyH fmd sraifiH
(3) Tegem T fo.
(4) Ferret oHTaeR SO
r-. Which is a national government agency engaged in promoting energy efficiency
in various sectors of the economy ?
(1) Indian Petrochemical Ltd.
f (2) Petroleum Conservation Research Association
(3) Hindusthan Petrochemical Ltd.
(4) National Thermo Power Company

117. VRATT Gaid @ aveqehi=n AT vt o8 7

1) ™ | @ =
(3) v _ (4) T
? Which is the cheapest mode of transport in India ?
(1) Road (2) Railway
‘ (3) Water (4) Air
;_| 118. TBUFRBV ST HaTd W TTEH HI0S 318 7
{ (1) et @ Wi
(3) WRe | (4) Fw ImE
What is the most advanced medium of the communication sector ?
?L (1) Television (2) Radio
(3) Post (4) Satellite

{ 119, m,mammmmmmwmmmm?

(1) Fregor (2) droft

(3) fsh (4) va™

Which of the following is considered as a basic need of the man alongwith food,
clothings and shelter ?

(1) Education (2) Water

(3) Rest (4) Journey

WA HHTHE ARM/SPACE FOR ROUGH WORK
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120, TEHE ST 3Teh Foheq AT IV qRaTa faesfa et s ofea ¢
(1) %1
(2) T TH A AR I
(3) =T, ST9U A BRI FU T
(4) @ @d o
On which principle, at present many of the projects in public sector are being
developed ?
(1) Profit principle
(2) No profit No loss principle
(3) Built, Operate and Transfer principle
(4) Marginal cost principle

121, AT Sivier gaTa R weger Jaavs Tata S I ?

(1) TBUESI (2) aTeqh

(3) Ted T e (4) S

Which sector has the most foreign direct investment in India ?
(1) Commumnication (2) Transport

(3) Hotel and Tourism (4) Energy

122. € vt € FIven e wradt o ?

(1) =T (2) AT
(3) TIRTI (4) wrafeR
Which type of energy is the solar energy ?
(1) Commercial (2) Noncommercial
{3) Non conventional (4) Conventional
123. el yrde 2 REEET T i w37 @ T 2ol ier 1994 9w 3R
Bl
(1) 500 (2) 1,500
(3) 2,500 (4) 5,000
National Telecom. Policy 1994 had the objective of the Public Call Office (PCO)
for every persons in the urban areas.
(1) 500 (2) 1,500
(3) 2,500 {4) 5,000

Foodl hIATETE ATFTT/SPACE FOR ROUGH WORK
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124. e o wfie aoiua $x wifah afe e gedim s Siofi e ?
1) . b @ 2 @A H. .
(3) .t am. . 4) A A
Which organisation has entered in to an agreement of collaboration with the
National Mining Research Centre Skochinsky Institute of mining in Russia ?
(1) HP.C.L. (2) N.T.P.C.
3) GAILL (490 O.N.G.C.
125, RATEAT GANHIA SATetelTs 8¢ T el Javiaor SrEa Tsfi & Fe.
(1) 13 f&d=w 2001 (2) 31 fedsw 2002
(3) 01 fed=w 2004 (4) 03 f&d= 2005
The Prime Minister of India launched the 'Jawaharlal Nehru National Urban
Renewal Mission' (JNNURM) on
(1) 13 December, 2001 (2) 31 December, 2002
(3) 01 December, 2004 (4) 03 December, 2005
126, @refeth Fymar frvasamar gaesht gey aid ?
(1) = framor F=on
(2) g AURERE RE]
(3) "a1 ITUTEE YREg
(4) forw wedt wdl uftwg
Which of the following is not related with the WTO ?
(1) Dispute settlement mechanism
(2) The council for trade in goods |
(3) The council for trade in services
(4) The council for foreign aid
127. @rrfis ol P @Rt e TR F €.
(1) G AN PRICEIEE RARE A
(3) LR AR (4) R e T

Privatisation means private ownership in
(1) Privately owned industry (2) Publicly owned industry
(3) Jointly owned industry (4) None of these

THEAT HIVTETS! AT/ SPACE FOR ROUGH WORK
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128. W afenfies wio 1 feasf i A T,
(1) 153, 1948 2) 153, 1956
(3) 243, 1981 (4) 2492, 1991
The New Industrial Policy was announced on
(1) July 15, 1948 (2) July 15, 1956
(3) July 24, 1981 (4) July 24, 1991
129, S SV S QETRRA ¢ SiTfirer SATIR SHeA’” TIgAT Sieft o1 ?
(1) ™ (2) ¥eis (3) =™ (4) IR
Which country in the world has taken initiative in the establishment of the "World Trade
Organisation" ?
(1) Japan 2y UK (3) China (4) U.S.A.
130. 7 anifdfer HiwomareR o samee Ffaaves ared aee oy ?
(1) s (2) IUA aEg
(3) wisae ] | (4) wERQl )
In which industry, disinvestment is increasing since the implementation of the
"New Economic Policy" ?
(1) Government (2) Consumer goods
(3) Capatal goods (4) Co-operative
131, sRA ‘ST SATIR @oeAET | GTEE v a§] wre ?
(1) 1991 (2) 1995
(3) 1998 (4) 2000
When did India become a member of the "World Trade Organisation” ?
(1) 1991 (2) 1995
(3) 1998 (4) 2000
132, 77 anifdien diivoTren feasR eIy v T @il amed e e 7

(1) w&FH (2) g

(3) =l (4) A=

Privatisation of which sector is increasing from the adoption of the "New Economic
Policy" ?

(1) Co-operative =~ - (2) Joint

(3) Government (49) Public

HESAT HRIHTETS! ART/SPACE FOR ROUGH WORK
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133. SmIRERFTR T srefrawaia wE gwRomT S ?

(1) e it FRedE a8

@) arfEa nfn IEdde T

(3) FrBE I TaE

& (4) UESIFF F<1 3 ESHE i 918
In which way the globalisation has affected the Indian Economy most ?
i (1) Increase in population and illiteracy
j (2) Increase in poverty and unemployment
s" (3) Increase in black money and inflation

(4) Increase in public debt and public expenditure

134. =ivren afreifie Y MR TP HE<T & seand 3T 7
(1) afenfies g, 1956
(2) frnfies g, 1970
(3) Imaifes giw, 1977
(4) ofrenfies gior, 1991
By which industrial policy the MRTP Act was abolished ?
i (1) Industrial Policy, 1956
@) Industrial Policy, 1970
(3) Industrial Policy, 1977
3 (4) Industrial Policy, 1991

2

185. ol GURONTS ST HIET TRIAT [aavhic FTd Sre Weste! e ?
(1) faaef see Jaeos
(2) UERITE JAEI
(3) fordfra e
(4) A et JaavE

Which type of investment has received a boost in India due to economic reforms ?

(1) Foreign Direct Inves_t,ment
(2) Portfolio Investment
? (3) Financial Investment

(4) NRI Investment
oo HIETE! AN/ SPACE FOR ROUGH WORK . -
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136. TRl wieaa R g,
(1) Frht Tmfterienga an 3ema Sl o TaaTE
(2) 3t Amerieg fodwma Seft STt TjaeER
(3) Yo i
(4) R Y& I
Foreign capital refers to the
(1) Investment made by foreigners in the country
(2) Investment made by residents abroad
(3) Outflow of the investment

(4) Gross value of import

137. v fafd = ghua & i
(1) W Pl a2 75 aed TR
(2) wHafE T SRR 1 A Frafa aRE e A AR
(3) i Fafa s Jea 9@ AR
(4) IR T snuTRe Fafa awgm =t R B e A
The pattern of India's exports indicates that
(1) Traditional items of exports are growing in importance
(2) Both traditional and non-traditional items of export are growing in importance
(3) Non-traditional items of export are growing in importance

(4) Neither traditional nor the non-traditional items of export have much of trade
significance

138. JEiETOeh! HIVIT U FuT WIATET 5607 SEgoaTITRy Sifess AR 7

(1) 2005-06 (2) 2006-07

(3) 2007-08 (4) 2008-09

In which one of the following years India's negative trade balance was the
highest ? .

(1) 2005-06 (2) 2006-07

(3) 2007-08 ' (4) 2008-09

5T HIHTETS IT/SPACE FOR ROUGH WORK
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139, mEE-Fafd dem (2009-14) 2020 W IRE T AN TRAETERT 6%
TR FOIR T ST T SR o,
(1) 1w (2) 1.25 TRt
(3) 2.0 T (4) 3.28 7%
EXIM Policy (2009-14) has set a broad objective of doubling India's share in
global merchandise trade by 2020 to
(1) 1percent (2) 1.25per cent
(3) 2.0 percent (4) 3.28 per cent
140. FeT WTO =1 40 HIEIIv gaR e ¢ fmesfiar 3w onga.
(1) 3 Gl @) o =gute
(3) & (@) Fheth e T
At present around of 150 WTO members are from developing
countries.
(1) Two third (2) Three fourth
(3) One third (4) None of the above
141. W& Oft A= e (foadt) o S e,
(1) 26 fedst 2004 (2) 1 AR 2004
3) 19 f 1999 (4) 1maERl 2005
The government promulgated the patent (third) amendment on
(1) December 26, 2004 (2) August 1, 2004
(3) April 19, 1999 (4) January 1, 2005
142, FIUEET &TH FFRE 1991 B TR 2006 N Frematia vaitten ¥ el s seefia Fef ?

(1) 9a1 &% (2) e Igee
(8) TWER (4) aTEgE IaM

Which sector has attracted highest FDI inflows during the period August 1991 to
September 2006 ?

(1) Service sector (2) Electrical equipments

(3) Telecommunication (4) Transportation industry

HEST HIATATS AT/ SPACE FOR ROUGH WORK
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143. ¥4 2009-10 1 HBTa wRATA TRvr ¥ fakeht faav Faeh! .
(1) 14,939 TIEH Sl (2) 22,461 T Biel
(3) 9,307 <AL Ble (4) 22,697 TUAH Sl
The total FDI in India during 2009-10 was
(1) $ 14,939 million (2) $ 22,461 million
(3) $9,307 million 4 $ 22,697 million

144, ¥ faiefi JaavE evet
(1) Foceht srqemEsgd fidyea awaa aavEh
(2) Tt umERFgE Feued AR AV
(3) @ud, wioneht anfer T ardfter [aav
(4) HAMITFARERISR ST HEETA
FDI refers
(1) Long term real investment of a firm abroad
(2) Short term trade investment of a firm abroad
(3) Investment in bonds, securities and equities

(4) Non-transfer of capital with extension of business

145. € YRR ANMRESH el AT IeeTaTa gHIay A HATT AL
(1) F=ad (2) @ & (3) w0 (4 Ha &
All trade distorting domestic support is placed in
(1) Amber box (2) Red box (3) Green box (49) Blue box

146. wRaW IMF 9 Sifess slebear Wigaardiel Sae amer T foeT R,
(1) UG fo9y w93 e
(2) YT ¥93
3) s
(4) Hieh1 Feriea Wi
India has paid its share of the capital to IMF and World Bank in the form of
(1) Non-negotiable special rupce securities
(2) Indian rupee
(3) Gold
(4) Gilt-edged-securities

FHTT HHTATE ANM/SPACE FOR ROUGH WORK
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147, faeft st qasps wevrl
1 (1) ferht ArTierierg weli@, amam anfdr @ =i Qid
(2) TV T4l HISAATds FIATAL dltd
(3) fawma 9 Jaavs
(4) v ¥ TaavH

Foreign portfolio investment means

1 (1) Buying bonds, equities and securities by foreigners
5‘ (2) Investors migrate with their capital
§ (3) Direct investment in foreign country

(4) Directinvestment of capital

148, aref wisaA oS
(1) iftren s fresfamt fran wisaetr=an QRarETE: el WisaETe U SO gH=1 oXTd
YA FoY
| (2) 3ftre st Presfivamamd dderiv isawm™ usH gy gE=aT 29 T o
g (8) o v i T A gE A e €
(4) foreh fafma serdda s s wifte amoft am

Hot money refers to

(1) Short-term capital movement from onc country to another country seeking
either higher rate of interest or safety of capital

(2) Long-run capital movement from one country to another secking higher rate of

interest
(3) Medium-term capital movement from one country to another

(4) Currency which is more in demand in the foreign exchange market

149.  iord) G ST et *sreders wof g’ revp Slesged! St ?

(1) IDA (2) IMF
(3) IFC (4) AN faws 1=
% Which institution is known as 'Soft loan Window' of World Bank ?
(1) IDA (2 IMF )
(3) IFC (4) Indian Development Forum

HedT HIATETE! ARTT/SPACE FOR ROUGH WORK
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NGRRCLICIEIRCE
SR [aavH STETTER

1) W Tiead HYEe W6 g T8 0!
2) TAEVEHIEAT VTS a9 7 Ae0
3) FAWTCTAT o TG R <ol

4) Seqrerea et vTeh Fafa sifad s

et Hivre) faema ais) emea ¢
(1) 1,394 2 1,23mfr3 (3) 1,294 (4) 2,3 anfr 4

Consider the following statements.

As per the Trade Related Investment measures

1) All restrictions on foreign capital companies are to be scrapped
2) No restrictions to be imposed on any area of investment

3) Import of raw material to be allowed

4) Export of part of output to be mandatory

Which of the above statements are correct ?
(1) 1,3and4 (2) 1,2and3 (3) 1,2and4 (4 2,3and4

151.

1950 WA g Tt negett smn Fdft vl g g = wegeman fem

(1) +Fm drg T TR (2) wH FN AR

(3) TTe IR (4) TS TRl e ¥g€l (trend) faa T
The share of tax revenue in the total revenue receipts of the Central Government
since 1950 _

(1) hasremained constant (2) hasdeclined

(3) hasincreased | (4) showsnocleartrend

152.

G R T Sz e Fde gmiye A
(1) 3 9 GEaa

(2) e T &

(3) TElE

(4) FhatH Fad T

Which of the following does not constitute a component of tax revenue for the
Central Government ?

(1) Tax on income and expenditure

{2) Tax on property

(3) Commodity taxes ,

(4) None of the above

HoAT HRATHIE! AT /SPACE FOR ROUGH WORK
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153. 3.4. 2001-02 Hed hg HTCAT TRV L ICTATT ATeed o feew fwelt gran ?
(1) 63% (2) 37% (3) 58% (4) 42%

What was the share of indirect taxes in the gross tax revenue of the central
government in 2001-02 ?

(1) 63% 2) 37% (3) 58% (4) 42%
154, g TWEHFR A1 TT HEHR FT<A1 THAG TEH ITAW hy GG Qe RREag ®
Wl (trend) Rem 3@ 7
(1) = (2) ueh
(3) o=e (4) Foeir! e e awh

What is the trend in the relative share of Central Government in the combined
revenues of both the federal and state governments ?

(1) increasing (2) decreasing
(3) constant (4) no specific trend

155. ohg TR HATHRTUA A MBI heted L Heer ST vara Jum=n Freft aga sivrar st

Hrigie o W aat 7
(1) THR FTR SR (2) TPt s
(3) g amam (4) IeTHHRL AR

Which Commission sets guidelines for the devolution of tax revenue collected by
the Central Government to the states ?

(1) National Labour Commaission (2) Sales Tax Commission
(3) Finance Commission (4) Income Tax Commission

156. 3TN fal STATTIFER TRYT R ATl fhdt% fewn in e @a-vae 39w i ?
(1) 69.5% (2) 30.5% (3) 29.5% (4) 15.0%

According to the Eleventh Finance Commission , what percentage share in its
total tax collection is to be reatined by the Central Government ?

(1) 69.5% (2) 30.5% (3) 29.5% (4) 15.0%

157. HETAT AETERY HEHETH vl TSATEl 2005- 10 I1 SHieTd |aid 3tk arer e ?

_1 (1) IW W @ faEr
1 (3) g =W (4) ufem s
Which state has received the highest share from the total shareable revenue of
the Centre during 2005-10 ?
(1) U.P. (2) Bihar
(3) Andhra Pradesh (4) West Bengal

HeedT HIHTHTE ATTT/SPACE FOR ROUGH WORK
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158, TEWHEG TETE ASHETE @ 0T ASAT iid @ 2@ Tl Focat eI g6 et 7
(1) 1987-88 (2) 1985-86 (3) 1991-92 (4) 2000-2001
Since which year is the public expenditure being classified as plan & non-plan
expenditure ?
(1) 1987-88 (2) 1985-86 (3) 1991-92 (4) 2000-2001

159, 3ieia Feitan @4 GeAreT GRiAd W@ genfda e 2009~ 10 areft frdi gt 7
(1) 22.0% (2) 28.0% (3) 65.0% 4 70.0%
Of all the states' total habilities what was the percentage share of internal debt in the
year 2009-10 ?

\ (1) 22.0% (2) 28.0% (3) 65.0% (4) 70.0%

160. NG VHRAT FEH SETTHIdIe TegdR USIhINTT g 1 quifad 7
(1) TR od Wiamyd Hered! TR Heite T
(2) G S & G @ A ahEd
(3) eIt TR =ATH
(4) o0 ¥R wd
According to the budget norms of the Government of Indian Central, Fiscal Deficit
indicates
(1) The total borrowing requirements of the Government from all sources
(2) The gap between Government receipts and Government expenditure
(3) True extent of borrowing
(4) All the three above

161. 71 FIE SNIIHA SRR ¢ A9 R0

(1) visael 7eqe g1 Heqel geias AT JEal
(2) TEEA G AU 3T6a

(3) W@R Usrni iy v e

(4) =t F3de! TRl

For the last few years, there has been no overall budget deficit because

(1) The capital receipts are estimated exactly to cover the deficit in the revenue
account

(2) The revenue account surplus is generated
(3) The Government is observing fiscal discipline
(4) None of the above

HoodT HIHTATS ATTT/SPACE FOR ROUGH WORK
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162. vigaef Fifined (megem=d) ‘wet onfor s e’ Fm uifad ?
(1) fEree dhee 1gas @) I8 g Fed
(2) e 100 fead aER) %9 e
(3) TR <F ITEAA! FLHRI 37w
(4) TR T
What does 'borrowing and other receipts' under capital receipts refer to ?
(1) Government issue of adhoc treasury bills to RBI
(2) Government issue of 100 day treasury bills in the market

(3) The liabilities of Government payable to the public
(4) None of the above

163. WA fag STRINTIIER FET=an T9@ AegaTdia fhdl <8 el &1 =1 aehm foa S 7
(1) 38.0% (2) 46.0%
(3) 37.0% (4) 42.0%

According to the 12" Finance Commission what percentage of the centre is gross
revenue is given over to the states ?

(1) 38.0% : : (2) 46.0%
(3) 37.0% 4 42.0%

164. WRA™E 1989 ¥ 2009 & Freasiid A6k ot ITih FHIed FH Tl ?

(1) 13.5% (2) 12.0%
(3) 18.0% 4) 17.0%
What is the annual compound rate of growth of public debt between 1989 and E
2009 in India ? i
(1) 13.5% (2) 12.0%
(3) 18.0% ) 4) 17.0%

165. 3.8, 2010-2011<1 afia: fawedrdicl FRTTIAR e TR * THY F 9 W 7 T
(aferta) ettt arer et 28 Srar 7

() 1.0% (2) 2.0% 3 3.0% 4 4.0%

What was estimated to be the percentage of external debt in the total debt and
liabilities of the Central Government in the budget-2010-2011 ?

(1) 1.0% (2) 2.0% (3) 3.0% 4 4.0%

wHoedT THIMTEY AR/ SPACE FOR ROUGH WORK
P.T.O.
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166. Tt SEATAVT (STETrEaet) (F6T) TS T&T 391 F1 ?
(1) g TR T8 G feerea a@fds Fei waks
(2) F% GEHRS TG Fet HH HO
(3) =R =
(4) Tl AL
What was the main objective of the 'Debt Swap Scheme' ?
(1) To liquidatel high ‘cosf loans given by the Central Government to the States
(2) To reduce the external debt of the Central Government
(3) Both the above
(4) None of the above
167. WHT S qId ST TRV Wehet IAAT=AT goid Wigad! @il 2a@
(1) waq watE (2) = qfeen
(3) wadEM Fed (4) F3ATE WL AG (trend) TN
In the past few years, capital expenditure as a percentage of GDP has been
(1) falling continuously {2) remained constant
(3) rising steadily (4) Showing no definite trend
168. GG v faRt Hege ATe) ¢
(1) Tz = s (2) T IUHATHT TH
(3) UEIE Fut (4) FHE I o
Which of the following is not the non-tax revenue ?
(1) Profits of RBI (2) Profits of state enterprises
(3) Public borrowings (4) Central excise duty
169. T Fl RO

(1) T wirsdie wEmen TEs wa weoaE) 39 2R
() T Frafiane s waETs 3t 3 e
(3) 3T St gRgeEar srerad) fAfsE Taal

(4) AN FHATET HIST A FHTSET 6T

Redeemable debt means

(1) Government promises to pay at some future date

{2) Government does not promise to pay interest regularly
(3) Their maturity period is not fixed

(4) Society is burdened with such debts

wHoedl RIATATST ATT/SPACE FOR ROUGH WORK
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170. RG TEHRA 2004 FIef! T Fiedn ‘s B 2 g9 3y =@ 8 7
(1) To Semeer) sftr stefdsher faem Frmede atgd arp sear gad wries For
(2) IS R SATHRG T GETUI H
(3) TITIE FX TTT GURIN HT!
(4) TRV R AT a1 B0

What was the main objective to appoint a Task Force in 2004 by the Government
of India ?

(1) To make recommendations for implementation of the Fiscal Responsibility and
Budgetary Management Act

(2) To reform the Direct Tax Structure
(3) To reform the Indirect Tax Structure
(4) To increase the total tax collection

171, TlT FIE] TEAS g TRl FES JTer @Eidid qaia Aid) o1 Hiord ?
(1) =T wEmEr (2) v (ge)
(3) TST BIRWHT HFEH (4) T &4
In the past few years, which component has been the single largest item of non-
plan expenditure of the Central Government ?
(1) Interest payment (2) Subsidies
(3) Grants to states (4) Defence expenditure

172. 13 =0 faer st wa wrdes et i T wehe Iared I wa w6 7

1) 68% (2) 5% 3) 73% (4) 56% i
What is the debt GDP ratio according to the 13'h Finance Commission ? :
(1) 68% (2) 65% 3) 73% (4) 56% E

173. W THid Siikiereh! T Tesiear ATTEE WA GRuIm e (outcome budget)

A gheaT FHURE §e Helt ?
(1) 2005-06 (2) 2003-04
(3) 1991-92 (4) 2008-09

When was the concept of 'outcome budget' introduced by the Government in order
to ensure accountablility and trasparency in public spending ?

(1) 2005-06 (2) 2003-04
(3) 1991-92 o (4) 2008-09

HEAT HHTATE AW/ SPACE FOR ROUGH WORK
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174. w@A fashiwuugsi HIvar & o] el ¢
(1) =82
(2) T<T 3T Yook
(3) iz faght o
(4) dmyes
Which tax was introdueced by the Government in place of sales tax ?
(1) VAT '
(2) State excise duties
(3) The Central Sales Tax
(4) Customs duties
175. & T e @ ! stmue o st gafie wiuger w39 A
TSATAE TEENS SIS Aol U7 o) Hew Wiefie] W arefast
(1) 60% to 62.5% (2) 62.5% to 656%
(3) 10% to 20% (4) 20% to 256%
To alleviate poverty in the poorer states the Eleventh Finance Commission
recommended the devolution of taxes by increasing the weightage in percapita-
income from
(1) 60% to 62.5% (2) 62.5% to 65%
(3) 10% to 20% (4) 20% to 25%
176. $-Hora Tay, I defaum wRengEn deE He) R TR B,
(1) TF¥A 420 3.9 (2) GFH 418 Jy.f.di
(3) HaH 421 . H (4) ¥HH 500 WA
Under what section is an E-mail abuse a cyber erime ?
(1) Section 420 IPC (2) Section 418 IPC
(3) Section 421 IPC (4) Section 500 IPC
177. TN IfFemss fasht o wihte defaem wmeer _ JEWUIRI e
(1) 420 3= 914, (2) 418 IF.AH.
(3) g ofw (4) 500 .94,
Online sale of arms is a crime under section
(1) 4201PC (2) 418 1PC
(3) Arms Act (4) 500 IPC
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178. fudrn = uften € v Fmerd FREG AR 7
(1) AT T BRR GEETERITRRa qreriy
(2) IR I
(3) Ahare Iem |
(4) gAY 3w | |
Media Lab Asia 1s working for
(1) To bring benefits of ICT to common man
(2) Sugar Industry
(3) Alcohol Industry
(4) Ethanol Industry

179. SAFA R GitheaoR Siviear sl |1dt TR Holdd 318 ¢

(1) "HEHERGRT 319
(2) 3

NOR
(4) FeThl THet T
SAFA is a software for persons.
(1) Mentally retarded
(2) Blind
(3) Physically disabled
(4) None of these

180. E-SAGU R ®ithedart firdian ufirn & a1 wei sivicar &mamd! TR & 3R 7
(1) |
(2) =
(3) T
(4) HEIF
E-SAGU developed by Media Asia Lab is for
(1) Agriculture
(2) Health care
(3) Education

(4) Entertainment

HosdT HITETS ATM/SPACE FOR ROUGH WORK
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181. uiciE—aR 2 aigeden fidin ufirn d" a1 gel Foren s sy sd o 2
(1) wroft TurEEt Rt g5
(2) fmu
@) 3d
(4) Jhteh el T
POLYSENSOR software developed by Media Asia Lab is for
(1) Water quality measurement instruments
(2) Drugs
(3) Milk
(4) None of the above
182. 'E-SAGU' I GiTedaRan HY- TR HIviea] a4 I Fell ?
(1) 2007 (2) 2005
(3) 2004 (4) 2001
'E-SAGU' Software of Media Asia Lab got Manthan award in
(1) 2007 (2) 2005
(3) 2004 (4) 2001
183. . wesfia =) o e wfirn o wvfie wrerTE gar ey R et T g
(1) <2003 (2) W 2004 (3) ¥, 2011 (4) atEh A
When was Shri Manjit Chaudhari a research scientist of Media Asia Lab awarded
young scientist award ?
(1) Jan. 2003 (2) Mar.2004 (3) Feb. 2011 (4) None of these
184, wia wedt R HroreaT TR THRad ?

(1) FRFd I UG T HEER)

(2) TR 9 WSIGUTE! Shetel! AUl TEfavETETd

(3) TR SR TiesfavaaTd) el gl T ivamEd
(4) TCP/IP Tevamm

A proxy server is used for which of the following ?
(1) To provide security against unauthorized users
(2) Toprovide client request for web pages

(3) To provide client request for database access

(4) To provide TCP/IP |

HEdT HIATATE ATT/SPACE FOR ROUGH WORK
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HTTP 2 ol &7 /™ a1 7

(1) hyper text transfer protocol

45 SRM

(2) home text transfer procedure

(3) hyper text transfer procedure (4) Iieh wawe T

HTTP stands for

(1) hyper text transfer protocol

(2) home text transfer procedure

(3) hyper text transfer procedure (4) none of these

186

. duTse e A9 U1 Thid T R RRUE

(1) URL (2y HTTP

(3) Browser (4 ¥%@

The unique address of web page on website is called as

(1) URL (2 HTTP

(3) Browser (4) E-mail

187.

(1) T (2) TN

1 qiFedar gR SaETie 7Yl Y3y &= A1) IEar 39 e S8 WA 7

(3) FeWe (4 WWW

The software uscd to navigate through the web is known as

(1) Server (2) Browser

(3) Internet (4) WWW

188.

ISDN = fawria &9

(1) Integrated Service Digital Network
(2) Internet Service Digital Network

(3) International Service Digital Network

(4) ameht AT
ISDN stands for

(1) Integrated Service Digital Network
(2) Internet Service Digital Network
(3) International Service Digital Network

(4) None of these

189.

DSL = faaria &9

(1) fefeat wemrmER AT
(3) fesfies wivedan dAaw
DSL stands for

(1) Digital Subscriber Line
(3) Digital Software Layer

2) feshiest Rt o1a
(4) A e A

(2) Digital Signal Line
(4) None of these

3 ool HIATETE ATN/SPACE FOR ROUGH WORK
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190. FTP < faarda &9
(1) File Transfer Protocol (2) Fully Transfer Protocol
(3) Filter Transfer Protocol (4) File Transfer Procedure
FTP stands for _—
(1) File Transfer Protocol (2) Fully Transfer Protocol
(3) Filter Transfer Protocol (4) File Transfer Procedure
191. JeuTde a0 YoM ISl 19 TRV @ 7
(1) wua o (2) IS
(3) A= 9N (4) I THE T
The first page of any website is calied _
(1) First page (2) Home page
(3) Web page (4) None of the above
192. 3 T= GE T 1 TevaTd ?
(1) 3 watm - (2) T
(3) W& (4) I T T
The next step of e-mail is
(1) Instant messaging (2) SPAM
(3) JUNK (4) None of these
193, <= 9yET v guifaw goanqei STaTe aurEmiel Rase! arevli, ared s 31 SiEE w1
TEUraTd ¢
(1) nafm 2) afdm (3) Hftm (4) IAH TR A
Observing, reading communication message between different members before
joining discussion group is called
(1) Messaging (2) Lurking (3) Surfing (4) None of the above
194, wfeei=h Sqmor T Qe FI FUE T A P wE e ?

(1) s&ewie @) fram

3) TR (4 Teq

Code of behaviour for sending and receiving information is called as
(1) Protocol (2) Rules

(8) Internet (4) Nodes

FHooqT RIHTETET ANTT/SPACE FOR ROUGH WORK
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195. T0R U Siecieql TR 315t Hadl, ™ TEUTATd.
(1) TR MRHA (2) URL
(3) WWW (4) TR THE! TR
The address for computer on internet is called as
(1) Internet protocol (2) URL
3) WWW a " (4) None of the above
196. FHvrAT deas: WA Hd Aiewdt guH AfSR sEad 7
(1) Peer to Peer (2) Hierarchical
(3) Internet (4) JYeh! Thel ATl
In which type of network nodes have equal rights ?
(1) Peer to Peer (2) Hierarchical
(3) Internet (4) None of these
197. Y% o7 vH.EE T d arrRfen faedim ame,
(1) Feak 2 = (3) faaw (4) JTE
Mac OSX-serveris. operating system.
(1) Network (2) Disk (3) Mixed (4) Personal
198. W wisfavarydi o2 gereTma TR FUITT 34, TN JEweAE H1l TEUraTd 7
(1) dae 2 fr (3) Wre @) F=a
Before sending message, it is converted in to small pieces, they are called as
(1) Packets (2) Bit (3) Byte (4) Nibble
199. uriiden Facear sl fiereren 3 doaen w1 wBuEE ?
(H) == (2) # (3) T (4) AR THE T
Unsolicited e-mails are called as
(1) SPAM (2) SENT (3) LURK (4) None of these
200. 'Gnutella’ ® HT I Towil A IIIATT 7
(1) ffa 2) frm g e
(3) TR /HeET (4) T, 3=, .
In which network strategy is 'Gnutella' used ?
(1) Terminal (2) Peer to Peer
(3) Client/Server (4) NIC
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AT - (TR 1A TR. )

®) wEgfEmd fafid Feemn ftre arfa w2 om (Thadh) Fua. Twyferefiie swafiss
1 A FIEEK Fex) HIH hed @ 3§ Hd) FOA=AT IS F& 3R, 3@ FHQ T 9 AR
IHTER WA T FAed * Tamed giom=n NI TR Hoaasas dref-82”7
TS TGETHR FRATS F0ATA A5 & A1 ST HTed Toh a8 o1 FHRramarsar A1/ Frat vaa
T BN AT e e o e,

(9) = YEuHFEE} s ffta o 3w FucuHa Sheaen € yeieT e s
RIATRATETR U3 AT WA 7R, AT Wien sharamt ATvange| SHear™ et
ITAFRET WFT - 1 AuaewTHe T R Wa ol ravas A,

wg'—nm
9. %, 201 G T T FoEE FIv @G e S 7
(1) @t TuHE wteEd (2) $vates FramEr
(3) T UHEIE U (4) TUTEEFST TG

YR 41 6 (3) TS TmEEA U8 o1 31, oIe I weR 6 (3)” . Ire
WIFATATAT . %. 201 TR0 IW-F0 @)’ B Ig@ Pl smifea w& arafo
HTEEE AR,

%201, @O @ @ @)

ST T YA TRAYf&iohe el edsh WRATe1 g IGHHT 81 JReTell waatiedl QUdcion
IARRALE & o FARAHEH F6ftd Ige [l BREfha e sRaaral. TRt
e THTEAT WIS Sictd araed, UfFet |1 vnd= 9 amge o,

SEAL
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